Solutions to Quiz 1

p,q, T REE, x,y, 2, w ® p,q, r DisemEE T 5, Let p, ¢ and r be statements, and z, v,
z and w compound statements of p, ¢ and r.

1. TOEMEZEHE L, Complete the truth table below.
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2. s=(pAr)=(qV-r),t=(-pVq) V-r. IELWVHDZFEX, Choose the correct one.
(a) s=t (b) s =t (c) £B5TH 7%\, Neither (a) nor (b).

3.s=(Ar) = (gv-r) 2 - & A& FERZTZHWTHERE, Express s using -, A and
parentheses only.

Soln. Since -~z =z, z =y =-azVyand zVy=-(-zA-y),

s=(pAr)=(qgV-r)=-(pAT)V(gV-r)==((pAT)A=(gV—r)) ==((pAT)A(mgAT)).

Other Solution: Using 2,

s=Ar)=(qV-r)=(pVqV-r=-(pA-q)V-r=-((pA-q) Ar).

4. FOEBED 2 8L w 2R TwHACHE 2 L)1, TO MROERITIC, -, A, £/l v 2
ALK, L 508 H 500N, 2720, vy & 2 F EOEMEOEHEZ DD
D &9 %, (Fill each underlined blank with =, A or V to express  and w in the truth table
above. There may be voids. y and z are compound logical statements having truth values
written in the table)



